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PRTR

=27
=27
100kg
500kg
100kg
100kg
30kg 100kg
PRTR -28
-28
10t
17 PRTR
13 15 11
0.1t
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15 PRTR

5t/ 15  PRTR
-29
1t
-29
0.1t 0.1t 0.1t |0.1t
0 1t 0 1t

2000 127]  162] 238] 527] 24w 314]  45%] 100%
5930 103 50| 155 308 334  16%| 50%| 100%
3000 80l 89l 113 282| 28%| 324  40%| 100%
2800 68] 70 105 243] 28u 20w  43%| 100%
2200 37] 34 78] 149] 2sw[ 23%[ 524 100%
3100 34 32 53] 119] 20w 27w  45%| 100%
2900 35] 36 43| 114] 314 324  38%| 100%
2500 24] 22 39| 85| 28W| 26W  46%| 100%
2300 21] 23] 28] 72| 20w 324 39%| 100%
2700 18] 23] 31| 72| 25%[ 32w  43%| 100%
2600 18] 24 26| 68| 26%| 35%| 38%| 100%
1800 19 25| 23] 67| 284  37%| 34w 100%
3400 19| 15| 31| 65| 294 23%[ 48%| 100%
1900 13| 15| 27| 55| 24w 27%|  49%| 100%
8716 44 9 1 54| 81w 17%[ 2% 100%
5132 6 3 42| 51| 12w[ 6| 82| 100%
1400 14] 10l 17| a1 3a%|  24%[  41%| 100%
3830 38 1 39| omw|  3un 100%
2100 11 of 1a[ 34| 32m[ 26% 41%| 100%
1200 19 7 5| 31]  61%  23%[  16%| 100%
1700 11 14 4] 29| 38m| 48w  14w| 100%
7210 6 6 8| 20[ 30%|  30%|  40%| 100%
1600 6 7 6] 19] 32w 37% 32%| 100%
9210 12 2 2| 16| 75%|  13%|  13%| 100%
3200 3 4 7 1a]  2aw[  20%[  50%| 100%
7700 1 4 of 14| 7wl 20w 64w 100%
3500 4 3 5| 12| 33w 25%| 424 100%
4400 2 1 8| 11| 18w  ow| 73w 100%

25| 16| 18] 59| 42w 27w  31%| 100%

818| 716] 1,136] 2,670] 314 274 43w 100%

15

PRTR

- 53 -




1t -30
1t
1%
1t
1t 1t
-30 1t
=
= =
S
&
63 90 4 21] 10 7 14) 24 1 4] 175| 24.424 1%
227 72 6 33 9 7 4] 29 1 2| 163] 23,761 1%
40 58 2 6 2 1 7] 39 1 2| 118] 19.657 1%
304 6 1 28 1 8 2| 34 1 3 84| 3.582 2%
230 28 1 7 1 36 6 79| 4.295 2%
22411.3.5- 26 1 5 2 10] 25 69| 13.849 0.5%
253 2 2 3 1 5 44 3 60 230 26%
43 8 2 7 4 1 15 1 18 56| 4,955 1%
145 7 5 25 4 2 5 2 2 52| 4,352 1%
299 3 5 1 4 2 1] 32 2 50| 20,920 0.2%
309 ( )= 1 27 1 15 3 47 588 8%
311 11 9 1 2 18 1 3 45| 3.716 1%
6916 16 1 18 8 43| 3.479 1%
1 5 2| 15 1 2| 13 1 39| 3,421 1%
232 2 1 19 1 15 38 980 4%
100 6 4 4 20 1 36 407 9%
270 -n- 15 1 1 16 2 35 405 9%
):

307 12 15 3 3 9 1| 17 2 35 547 6%
310 12 1 4 5 10 1 2 35 625 6%
68 3 4 3 2 14 2 8 33| 3.655 1%
64 3 1 6 1 17 3 31 232 13%
133| 65 8| 162| 40| 28| 17 5| 370 3 1 9] 70{ 911] 80.570 1%
509| 97| 19| 412] 81| 51| 40| 11| 661] 153 9| 54| 136]2,234]218,650 1%

15 PRTR

15 PRTR
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1t =31
-31 1t
1400[1800[1900[2000[2100]2200]2300[2500[2600[2700]2800]2900[3000[3100[3400[5132
63 2] 1 14 2] 6| 6] 4 3 8 4] 12| 3] 4 473
40 1 8 1| 2] 3] 1| a4 6| o 11| 3 2|14 65
304 3| 2| 1| 12| 1 1 2| 2| 3| 2| 11| 4 o 2| 2 1| 58
227 2 8 3 2| 4 2 11 1| 11| 3 2 6] 55
230 3 3 2 3 1 3] 10l 3] 11| 10[ 2 1 52
224[1.3,5- 1 2 6] 1] 3 1 6| 7] 5] 4 o 45
43 2 1 11 1 1 2l 1 10 1 2 32
( )=
309 1 71 3] 1] 2| 2| 1 6 2| 4 2| 31
1 8 2 2 2 71 8 1 30
253 i 5 6| 4 2 3 1 2 3 1| 28
270 -n- 1 3 9 1 3 2| 1 1 1 1 1 2] 26
310 1 8 1 11 3 6 1| 1 2] 25
311 8 3 2 1 4 5 2 25
100 1] 3 i 1 3] 3 1 23
145 i 1 1 4 3 1 1 4 1 1 3 1 22
44 6 1 50 1] 4 1 2 1 21
232 2] 3 2 1 2 71 2 2 21
68 3 E IE 2 2 2 4 2 20
299 1 4 1 2 1 2] 4 2 1 2 20
25 6 1 2 1 2 1 5 1 19
64 1 1 i 2 1] 10 3 19
696 i 3 1 6| 3] 1| 3] 1 19
):

307 12 15
il 1 9 2l 1 1 3 1 19
176 1 7 2 1 3 2 1 17
231 i 5 i1 1 4 1 2 17
16[2- 71 2 i 2 3 116
30 1 3 4 2| 5 1| 16
101 2- 5 1 1 1 2 3 2 15
272 2- 6 1 1 3 1 1 2 15

24 10
14 1 1 51 2] 1 1 1 1 1 14
266 2 2 2 4 1 1 2 14
346 3 2 2 1 2| 4 14
177 1 2 4 3 3 13
207 5 2l 3 il 1 1 13
9 2- 2l 1] 2| 4 1 2 12
108 2 1 1| 3 2| 2 1 12
172[N.N- 1 4 1 3 1 1 11
200 2 2 2 1 1 2 10
204 i 70 1 1 10
283 1 i 2 i3 2 10
2| 8| 2| 165 12| 18] 34| 10| 4| 8] 10] 4] 21| 10| 6 8| 322
15[ 28] 15[ 382] 43| 56| 91| 46] 39| 29[ 122] 52 187 90| 36] 3] 65[1,299
15 PRTR

-55-



15 PRTR 14 15 PRTR

1t
14 5t
0.5t PRTR
PRTR 14
1t
PRTR 5t 14
1t 15 PRTR
0.1t 0.5t 250kg/
0.5t 1t 750kg/
50
30%
50%
70%
95
14
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1t/

1t

10%

1t

1t/

-57 -

1t



-32 1t
t/ PRTR 1t
5t it (d) (t/ (e =(d)/((c)+(e))

(@) (b) |=(@)/ b
1400 13| 213 6% 118 63 23 16 | 5,428 | 1,262 | 0.4% 1.2%
1800 21| 308 7% 101 10 26 5|21,124 336 | 0.1% 1.4%
1900 24| 300 8% 397 6 14 121,549 0| 0.1% 9.0%
2000 211| 2,088  10%| 1,055 248 91 24 (35,125 | 3,183 | 0.3%] 0.7%
2100 13| 175 7% 38 18 3| 1,155 18 8.4%
2200 70| 828 8% 594 95 30,830 413 | 0.3%
2300 25| 225  11% 314 21 54 3 | 12,585 66 | 0.4% 3.6%
2500 31| 446 7% 342 22 55 6| 9,242 44| 0.6% 9.7%
2600 27| 307 9% 396 27 41 4| 4,744 527 | 0.8% 0.6%
2700 30| 480 6% 47 67 1 8| 2,727 440 | 0.1% 1.6%
2800 82| 1,297 6% 2,138 189 263 30 | 18,124 88 | 1.3%| 10.9%
2900 33 469 7% 611 0 116 0| 8,476 1| 1.3% 15.5%
3000 99| 1,076 o%| 1,349 104 249 12 | 9,940 403 | 2.2% 2.3%
3100 46| 901 5%| 1,654 46 229 11 | 52,732 44 | 0.4%| 11.8%
3400 26/ 379 7% 425 16 51 3 | 10,974 22 | 0.4% 8.8%
5132 43| 593 7% 16 2 406 0.4%
5930 133/ 18,386 1% 3,135 232 1,407 110 | 5.1%
1 PRTR (5t
2 14 PRTR

PRTR 60%

PRTR

(@)

10

- B8 -




-33 1t
(kg/ PRTR 1t
5t 1t _
(@ (kg/  (e) [=(d)/((c)+(d))
@ b | =@/ b
253 42 111 39% 71 10 2 2 2 10 | 22%] 11%
64 29 127 230 2 01| 0.1/ 0.05 3%
176 22 123 20% 2 6 2] 0.03] 0.2 1| 934 0.5%
12 27 140 19% 33 1 190 31 1%
9 2- 21 114 18%| 12 6 6 | 0.0001| 34%
308 14 77 18%| 14 5 2 1 2 41 14% 7w
44 31 175 18%| 78 4l 24| o5/ 297 21 6% 2%
254 13 74 18% 9 0.03| 0.04 4 0.3%
101 2- 28 164 17% 173 11 414 1 2%
46 13 79 16% 1 05 0.5 12| 166 0.3%
270 n- 41 263 16% 9 3] 8] 0.3 18 2| 20w 5y
100 37 270 15% 1 13 3 1 11 13%
309 56 385 15% 19| 45| 11 3 12 08 | 37% 2%
45 14 108 13%] 49| 05| 12 1,358 8 1%
242 13 102 13% 3 3 0.4| 0.01| 88%
198 15 123 120 47 0.2 30 1] 0.3%
24 10 21 173 12% 8| 10| 0.1 3 6 35 1% 7%
14
243 16 133 12% 0.2 6| 0.2 3 1 9%
346 32 271 12% 9 2 1 6 91 1%
16/2- 35 315 11%] 22| 28 2 4 57 24 2n Th
67 12 134 10% 4 3 128 23 20
10% 3-30
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1t- 0.5t

1t
PRTR

-32

-34

PRTR

1t

1t

1t

10%

1t

1200

1700

2800

2900

3100

9210

10%
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-35

1t

100
176
242
253
270
308
309

PRTR

-36

1t
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PRTR

PRTR
PRTR
-37
10
21
PRTR
-38
10
30
17 PRTR
15 PRTR 21
11 21
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15 PRTR
21
-39 1t
15
1t
-39 21 -40 21
21
-39 21
10kg |10kg | 0.1 (b) =(a)/(b)
0.1t 1t @)
291 275 44 41 1 652 0.2%
123 45 8 9 6 191 3%
87 134 66 74 14 375 4%
15 PRTR
-40
=(a)/(b
276 12,284 2%
149 75,783 0.2%
4 11,675 0.03%
3,679 48,588 8%
55 25,707 0.2%
29 1,082 3%
31 568 5%
16
20
21 -41
-43
1,1,1-
21

- 63 -




100kg

1t 15
1t
10t
-41
100kg : 100kg @ 1t
1t 10t
24 10 14 1 1 2
43 1 1
63 1 1
200 10 35 46
209 1,1,1- 2 4 6
211 5 5
299 | 1 1
307 12 15 2 2
309 )= 1 1
17 47 65
15 PRTR
-42
100kg 100kg 1t 10t
1t
47 2
64 10 7 24
15 PRTR

- 64 -




100kg 100kg: 1t 10t
1t © 10t
26 | L1 1 : | ] 1
40 18 6 1 25| 1 21 16
43 27 27 1 55 1 1 53 2
44 1 1 2 2
63 47/ 36 1 86| 17/ 79| 54 1
68 3 1 1 1
121 Y 6 6 6
177 4 4 sl 1| 5| 4 1] 1
2241,3,5- 2 2 2 2
227 47 49 7 105/ 21 90 66 1
230, 2 1 1 4 1 1 1
270 -n- 1 1 1 1
346 2 2 2
155 123 16 298| 40 201 145 53 1 17
15 PRTR
21
PRTR 1t
21 -39 -41
1t
21
PRTR
=(a)/(b
652 6,615 9.9%
191 1,649 11.6%
375 24,255 1.5%
20

- 65 -




44 21
kg/ t/
(t/
24 10 3 221 224| 0.03 2 2 0.6
14
43 3 19 22| 0.03 02| 02| 0.001
63 48 1 49| 05 001] 05 0
96 4 100
200 9515 410) 9,925 o ool g 425
209/1,1,1- 165  165| 330 2 2 3| -
211 413 72| 485 4 1 5 -
299 -
):
307 12 15 11 11 01| 01 2
309 )z 25 60 85| 0.3 1 1 0
100 8| 110
10070 960| 11130 0t ol )
15 PRTR
1t
-45 21
kg/ t/
(t/
47 2 2| | 0.04] 0.04] -
1 1
64 154| 154 0
(1) (1)
156| 156 1 1
15 PRTR

1t

- 66 -




-46 21
kg/ t/
(t/
17
26 250 250 an 17 0
420 430
40 6239 140| 6379 0 ol @0 5
71 190 260
43 1,065 2,873| 3,938 29 (65) (94) 42
44 15 1 16 1| 0.2 1 0
6,800 90| 6,900
63 102,080 1,372/ 10346 "o o)l 6a00)| 32
68 3 1 1 0.1 0.1 0
121 1 31 2 33 2| 01 2 0
177 290 42 332 19| 2.8 22 8
1,3,5- 320 7 320
224 4750 100 4850 o ol @0 O
6,400 140| 6,500
2275 95,899: 2,153| 98,052 5.600) (110) (5.700) 420
230 Y 12 .08 0.8 0.02
320 7 320
270 -n- 4750  100| 4850 o o) @20 %002
346 1 1 0.1 0.1 0
14,000  450| 14,000
215,378 6,797| 222.175| 1 o0 (250 (12.000)
15 PRTR

1t
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21

21

-47 21
/
6 19,500
2 94,000
219,000
18 32,300
3 15,300
15,300
23,000
20 230,000
17 2,490
19 5,518
2 1,240
8 1.2- 20,000
-48 21
/ (kg/ )
15 2,800 2,200
2,200 2,000
8 2,900 2,900
20 1,100 760
6 17,000 0
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21

20

18

10

20

12

15

360t/
600t/

H16
2,300t/

1,500t/

12,000t/

H16
11,000t/
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H16
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3,000t/
2,000t/

1,600t/

2006
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21

-51

21 21 29
21
21
21
-50
21 21 29
1 11 2 16
1| 11 5 13
17
-51
21 21 29
4 6
3 9
5 -
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21
21 -20
-52
21 PRTR
13
21
21 21
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